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1. If a solid body is negatively charged by friction, it means that the body has:
(a) acquired excess of electrons
(b) lost some protons
(c) acquired some electrons and lost a lesser number of protons

(d) lost some positive ions
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2. A metallic sphere is placed in a uniform electric field.

The lines of Force follow the path(s) shown in the figure as:

(@) 1 (b) 2
(c)3 (d) 4
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(@) 1 (b) 2
(©)3 (d) 4

A point charge g is placed at the midpoint of a cube of side L. The electric flux emerging
from the cube is:

9 9 6qL°
@) %o (b) 6L% (©) & (d) ZERO
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The capacitance of a parallel plate condenser does not depend on:
(a) area of the plates (b) metal of the plates

(c) medium between the plates (d) distance between the plates
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Which of the following is NOT the property of equipotential surface?
(a) They do not cross each other.

(b) The rate of change of potential with distance on them is zero

(c) For a uniform electric field they are concentric spheres.

(d) They can be imaginery spheres.
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Three charges + 3q + q and Q are placed on a straight line with equal separation. In
order to make the net force on q to be zero, the value of Q will be :

() +3q (b)2q

(c) -3q (d) -4q
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(a) +3q (b) +2q

(©)-3q (d) -4q

If sphere of bad conductor is given charge then it is distributed on:
(a) surface

(b) inside the surface
(c) only inside the surface

(d) None
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The dielectric constant of a metal is:

(@0 (b) 1

(c) » (d)-1
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Choose the Sl unit of electric potential energy :
faere feufdst ot &1 Sl A ot

(a) Joule (STe) (b)Coulomb(hellFs)
(c) Netwon per coulomb (Fq\a?r/;m'—q’) (d) Erg (37)

If a +ve charge is moved from low to high potential region,
the electric potential energy:
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(a) decreases (&I SITUIT)
(b)increases (9&.SITT31)

(c) remain the same

(d) may increase or decrease (&€ IT §&. Hhdll &)

A force of 4N is acting between two charges in air. If the space between them
is completely filled with glass (relative permittivity= 8), then the new force
will be

(a) 2N b) 5N c} 0.2N d) 0.5N
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(a) 2N b) 5N c}0.2N d) 0.5N

The magnetic field inside a solenoid is
(a)Uniform and strong
(b)Non-uniform and strong
(c)Uniform and weak

(d)Non-uniform and weak
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13. one Gauss is equal to Teh MY ST BT &

a) 1 Tesla b) 10° Tesla c) 10 Tesla d) 10 Tesla
14.  The angles of dip at the poles and the equator respectively are
(a) 30°, 60° (b) 0°,90° (c) 45°, 90° (d) 90°, 0
¢JaT 3T STHEINWT I A THeT HI0T g
(a) 30°, 60° (b) 0°,90° (c)45°,90° (d) 90°, 0°

15.  An electric heater is connected to the voltage supply. After few seconds, current gets
its steady value then its initial current will be
(a)equal to its steady current
(b) slightly higher than its steady current
(c) slightly less than its steady current
(d) zero
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16 In the series combination of two or more than two resistances
(@) the current through each resistance is same.
(b) the voltage through each resistance is same.
(c) neither current nor voltage through each resistance is same.
(d) both current and voltage through each resistance are same.
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17.  Acell having an emf E and internal resistance r is connected across a variable
external resistance R. As the resistance R is increased, the plot of potential
difference V across R isgiven by
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18. In parallel combination of n cells, we obtain
(a) more voltage (b) more current
(c) less voltage (d) less current
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In a Wheatstone bridge if the battery and galvanometer are interchanged then the
deflection in galvanometer will

(a) change in previous direction (b) not change

(c) change in opposite direction (d) none of these.
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The specific resistance of a rod of copper as compared to that of thin wire of copper is :
(@) less (b) more

(c)same  (d) depends upon the length and area of cross-section of the wire
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The resistivity of alloy manganin is

(a) Nearly independent of temperature

(b) Increases rapidly with increase in temperature
(c) Decreases with increase in temperature

(d) Increases rapidly with decrease in temperature
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22.  Current flows through uniform, square frames as shown in the figure. In which case is
the magnetic field at the centre of the frame not zero?

(a) (b)

—» »— >
(c) { (d)
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.23.  The correct plot of the magnitude of magnetic field B” vs distance r from centre of the
wire is, if the radius of wire is R
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24. A current carrying loop is placed in a uniform magnetic field. The torge acting on it does
not depend upon

(a) area of loop (b) value of current

(c) magnetic field (d) None of these
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25. No force acts on the change fired through a magnetic field when the angle between its
velocity and magnetic field is
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26.  When a magnetic compass needle is carried nearby to a straight wire carrying current,
then

(1) the straight wire cause a noticeable deflection in the compass needle.
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(11) the alignment of the needle is tangential to an imaginary circle with straight wire as
its centre and has a plane perpendicular to the wire

(@) (1) is correct (b) (I1) is correct
(c) both (1) and (I1) are correct (d) neither (1) nor (1) is
correct
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Which one of the following is correct statement about magnetic forces?

@) Magnetic forces always obey Newton’s third law.

(b) Magnetic forces do not obey Newton’s third law.

(© For  very high current, magnetic forces obey Newton’s third law.
(d) Inside low magnetic field, magnetic forces obey Newton’s third law.
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Two a-particles have the ratio of their velocities as 3 : 2 on entering the magnetic

field. If they move in different circular paths, then the ratio of the radii of their paths is

@2:3 (b)3:2
(©9:4 ()4:9
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29. Do magnetic field lines always form closed loops

a) Yes b) No
c) Sometimes d) None of these
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30 The induced emf LdlI/dt is analogous to.

(a) force (b)work
(c) power (d)impulse
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31.With a decrease of current in the primary coil from 2 amp to zero value in 0.01 sec, the emf
generated in the secondary coil is 1000 volt. The mutual inductance of the two coils is :
a) 1.25H b) 50H

)  25H d  10H
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a) 1.25H b) 5.0H
c) 25H d) 10 H

32.  Acoil is placed in a magnetic field directed downward and increasing from 0 to 18 T in

0.1 second. Area of coil is 2m? and resistance 5 Q. Induced current will be :
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a) 7.2 A in clockwise direction b) 72 A in clockwise direction

C) 72 A in anticlockwise direction d) no current will be induced
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A circular loop of radius R carrying current | lies in x-y plane with its centre at origin.
The total magnetic flux through x-y plane is :
a) directly proportional to | b) directly proportional to R

C) directly proportional to R>  d) zero
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Which of the following statements is not correct?

(a) Whenever the amount of magnetic flux linked with a circuit changes, an emf is
induced in circuit.

(b) The induced emf lasts so long as the change in magnetic flux continues.

(c) The direction of induced emf is given by Lenz’s law.

(d) Lenz’s law is a consequence of the law of conservation of momentum.
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The self inductance L of a solenoid of length /and area of cross-section A, with a
fixed

number of turns AVincreases as

(a) /and A increase

(b) /decreases and A increases

(c) /increases and A decreases

(d) both /and A decrease
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